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JEE MAINS PAPER 2 2025

Application No
Candidate Name
Roll No
Test Date 30/01/2025
Test Time 3:00 PM - 6:30 PM
Subject B. Arch
Q.1
log, (1+5x)—log, (1—2x) i
If the function f{x) defined by f(x)= x s I
[ p x=0
is continuous at x =0, then the value of | is :
Options 1. 3
2. h
3.7
) &
o
¢ QC)uestion Type : MCQ
* 27 Question ID : 6564451599
A4 Option 1 ID : 6564455567
Option 2 ID : 6564455569
Option 3 ID : 6564455570
Option 4 ID : 6564455568
Status : Answered
Chosen Option : 1
Q2 [f the mean of the frequency distril
Variable (x ;) 1 3 | 9 Total
Frequency (f) 1 a b 3 1 10
is 5, then its variance is :
Options 52
2. h
3. 5.3
4 51

Question Type : MCQ
Question ID : 6564451587
Option 1 ID : 6564455521
Option 2 ID : 6564455519
Option 3 ID : 6564455522
Option 4 ID : 6564455520

Status : Answered

Chosen Option : 2
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x—8 y+19  =z-10
3 —16 7 3 8 h
AeR, then an angle between L and L, is equal to :

x—=15 _y—-29 z-5

Options
. I
6
2 cos ! £
5
3.
12
4 cos” ! 20
21

Q.3 Let L be the line that passes through the point (1, 2, —4) and be perpendicular to the two lines

s A A M A A
and =—F. If Lyis the line r=7i—6k+ N i+2j+2k/,

Question Type :
Question ID :
Option 11D :
tion 2 ID :
,p@'on 3ID:
ion4 1D :
Status :

Qe
<<<,</Chosen Option :

N

MCQ
6564451594
6564455547
6564455549
6564455548
6564455550
Not Answered

Q.4 Inaquestion paper containing 10 quesions, A can solve 70%
of the questions. The probability, that none of A and B ¥

at random from the paper, is :

Options Yy
2 ( D o ®

/

=

4

2lw @i Zle @

d B can solve 50%
e queston, selected

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
6564451588
6564455526
6564455523
6564455525
6564455524
Answered

4
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Q.5  The area of the region, enclosed between the curves y=cosx and iy=|cosx| for 0 = x = 3, is:

Options 5
2. f
3.3
4. 12
Question Type : MCQ
Question ID : 6564451597
Option 1 ID : 6564455560
Option 2 ID : 6564455561
Option 3 ID : 6564455559
Option 4 ID : 6564455562
Status : Answered
Chosen Option : 2
Q-e 1

If the domain of the function f(x)= +422#1 is [o, B) — {0}, then 20 (o + B?) equals :

log (1-2x)

Options 4 12
2.10
&
313 X
4. 8§

Question Type : MCQ
Question ID : 6564451581
Option 1 ID : 6564455497
Option 2 ID : 6564455496
Option 3 ID : 6564455498
Option 4 ID : 6564455495

Status : Not Answered

Chosen Option : --
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Q.7 Let A (3,3./3), B (6 0) and C (q, B) be the vertices of an equilateral triangle. Let its incentre be D,

and P and Q be the feet of perpendiculars drawn from the point D on AC and BC, respectively.
Then the area of quadrilateral CPDQ is :

Options 3.3
2. 5J§
3. 2\/5
4 8.3

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
6564451590
6564455532
6564455533
6564455531
6564455534
Answered

1

Qs The product of all real solutions of the equation (3+2J§) x4“15+[ 3_2‘5]‘!;

Options1_ zm
2. 18
3. 14

4. 4@

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
6564451583
6564455505
6564455506
6564455504
6564455503
Not Answered
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Q.9
LetE :ﬁ e ﬁ;l , a> Db be an ellipse of eccentricity _L . If the distance between the foci of E is 4,
a> b2 3
then the length of its latus rectum is :
Options
2
, 103
3
, 643
3
4. 8\/5
3
Question Type : MCQ
Question ID : 6564451591
vy Option 1 ID : 6564455535
tion 2 ID : 6564455538
n 31D : 6564455536
g Qbﬁon 41D : 6564455537
Qg’? Status : Not Answered
O»{é’(/ hosen Option : --
Q.10 o
% 3(f(td [
Let f be a differentiable non-zero function and J-f( 2 (f(x}}lz is
equal to :
Options
oge (V2 +2)
2 h)ge (3 N 2)
3 loge (1 + -,.!2)
* log. ( V2 - 1)
Question Type : MCQ
Question ID : 6564451595
Option 1 ID : 6564455551
Option 2 ID : 6564455554
Option 3 ID : 6564455553
Option 4 ID : 6564455552
Status : Not Answered
Chosen Option : --
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Q.11 If the system of equations x+ 2y +3az=4, 2v+3y +4z=1, 3x+ 7y + 2z =D has infinitely many
solutions, then b—40a is equals to :

Options 4 4
2. 3
3.1
4. 2
Question Type : MCQ
Question ID : 6564451584
Option 1 ID : 6564455507
Option 2 ID : 6564455510
Option 3 ID : 6564455508
Option 4 ID : 6564455509
Status : Not Answered
Chosen Option : --
QA2 1t the line y=x+3 intersect the parabola x2=4y at the points A and B. If F is the focus of the
parabola, then the area of triangle AFB is :
Options
1. A »
2.4
Q‘o
3. 8 O3
4. 4
Question Type : MCQ
Question ID : 6564451589
Option 1 ID : 6564455528
Option 2 ID : 6564455530
Option 3 ID : 6564455529
Option 4 ID : 6564455527
Status : Not Answered
Chosen Option : --
Q.13 Leta,b,cbe positive real numbers such thata, 7, ¢, b are inan arithmetic progression. If ab=3(a +b),
then the largest value of b is :
Options
.04 32
2.9-.2
3 04 642
40— 342
Question Type : MCQ
Question ID : 6564451585
Option 1 ID : 6564455513
Option 2 ID : 6564455511
Option 3 ID : 6564455514
Option 4 ID : 6564455512
Status : Not Answered
Chosen Option : --

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024371/2083024371S1D3134/17384027688126164/MR4...

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024371/2083024371S1D3134/173840276881...

6/44



2/15/25, 2:49 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024371/2083024371S1D3134/173840276881...

Q14 et A =11,23,456,7 8910, 11, 12}. LetR be a relation on A defined by xRy if and only if
2x=3y. Letl and m be the minimum number of elements required to be added in R to make it
reflexive and symmetric relations, respectively. Then [ +m is equal to :

Options ¢ 13
2. 15
316
4. 14
Question Type : MCQ
Question ID : 6564451580
Option 1 ID : 6564455491
Option 2 ID : 6564455493
Option 3 ID : 6564455494
Option 4 ID : 6564455492
Status : Answered
Chosen Option : 1
Q.15 x=6 y-=7 =7

The length of the perpendicular from the point (1, 2, 3) on the line —— =

3 2 -
Options 4 ¢  /
2. A
5 : O
5 4
4 7

Question Type : MCQ
Question ID : 6564451593
Option 1 ID : 6564455544
Option 2 ID : 6564455543
Option 3 ID : 6564455545
Option 4 ID : 6564455546

Status : Answered

Chosen Option : 4
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Q.16  Let a circle of radius 3 pass through the origin O and meet the coordinate axes at the points A and
B. Then the locus of the centroid of the triangle AOB is :

°pti0n51-x2+y2=12
2 ¥2+y2=1
3. 3x2+3y2=4

4. x2+ 12 =4

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question Type :
: 6564451592
: 6564455542
: 6564455539
: 6564455541
: 6564455540
: Answered

Chosen Option :

McQ

1

Q.17 10 5
Let f(x)= Z cot_l(l—(x+r)+(x+r} ),x?zl]_
r=1

Options 4 2
2.1
3. not defined
4.0
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McaQ

6564451596
6564455557
6564455556

: 6564455558
: 6564455555

Answered
4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024371/2083024371S1D3134/17384027688126164/MR4...

8/44



2/15/25, 2:49 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024371/2083024371S1D3134/173840276881...

Q.18 : ; ; i
If (=24 -10i =a+iB, i=+—1,a,PeR,then o +p2is equal to:
Options ¢ 26
2. 29
3. 22
4. 24
Question Type : MCQ
Question ID : 6564451582
Option 1 ID : 6564455501
Option 2 ID : 6564455502
Option 3 ID : 6564455499
Option 4 ID : 6564455500
Status : Answered
Chosen Option : 4
Q.19  [f there are 19 and 16 points on two distinct parallel lines L; and L, respectively, then the total
number of triangles that can be formed using these points as vertices, is :
Options
1. 5016 .
2. 5049
&
3. 4997 A
4. 4983
Question Type : MCQ
Question ID : 6564451586
Option 1 ID : 6564455517
Option 2 ID : 6564455518
Option 3 ID : 6564455516
Option 4 ID : 6564455515
Status : Not Answered
Chosen Option : --
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Q.20 9

X—AX
—dx= L -
If :Ix(x—l} o, then e® is equal to :

Options 16/9
2 9/4
3.4/3
4.4/9

Question Type : MCQ
Question ID : 6564451598
Option 1 ID : 6564455564
Option 2 ID : 6564455563
Option 3 ID : 6564455566
Option 4 ID : 6564455565

Status : Answered

Chosen Option : 4

Section : Mathematics Section B

Q.21 If the differential equation for the family of circles passing through the points (1
is 2xy d,x+(m:2+ﬁy2+'y}dy=ﬂ, then o+ ++ is equal to .

Give --
n
Ans
wer :
S Question Type : SA
f “y 0\ Question ID : 6564451604
Yo ‘ X Status : Not Answered
- -
Q.22 123 1 1
Let A={0 2 3| and let P be a 3X3 matrix. 1 0fand [1 0 2]P|0|=[K],,,
001 011 2

then k is equal to

Give --
n
Ans
wer :

Question Type : SA
Question ID : 6564451600
Status : Not Answered
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Q.23 2

n
it 2 J ((xcos (cot™ ) +sincot™ 1)) 2=1) _ x4 Bn?, then 2 (A +B) equals _
x=1
Give --
n
Ans
wer :
Question Type : SA
Question ID : 6564451602
Status : Not Answered
Q.24

- A A A R . g B L mn
Let a=2i+j—k and b=3i+2j+4k. Letfor somel, p eR, avector c =ha+pb. If a-c=16 and

- A A A 2
bxc=—-12i+22j-2k, then [d equals

Give --
n
Ans
wer :

Question Type : SA
Question ID : 6564451603
> Status : Not Answered

Q.25

1t (1) + 2(19C,)+..+10(°Cso ) = m( o).
Give --

Ans
wer :

Question Type : SA
Question ID : 6564451601
Status : Not Answered

Section : Aptitude Test
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Q.26

In a question figure a 3D object is given. Identify the correct top view of the object amongst the
answer figures.

Options I_l
1. L
P
2.
A
— »
&
\4
4. N\
Question Type : MCQ
Question ID : 6564451615
Option 1 ID : 6564455616
Option 2 ID : 6564455618
Option 3 ID : 6564455617
Option 4 ID : 6564455619
Status : Answered
Chosen Option : 4
Q.27 . i
National Gallery of Art was designed by whom ?
Options .
PHONS1. Le Corbusier
2. Louis XII
3. F.L. Wright
4 LM. Pie
Question Type : MCQ
Question ID : 6564451640
Option 1 ID : 6564455719
Option 2 ID : 6564455717
Option 3 ID : 6564455718
Option 4 ID : 6564455716
Status : Not Answered
Chosen Option : --
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Q.28  Natch List - I with List - IL.

List - I List - II
(A) Colosseum (I)  Temple dedicated to the Goddess Athena
(B) Parthenon (I)y  Church, Italy
(C) Milan Cathedral (III) Roman goddess of freedom
(D) Statue of Liberty (IV) Roman Amphitheatre

Choose the correct answer from the options given below :
P (A)(II), (B)H(IV), (O-(D), (D)-(1D)

2 (A)-(II), (B)-(T), (C)-(IT), (D)-(IV)

3 (A)-(IV), (B)-(I), (C)-(1T), (D))

4 (A)-(IV), (B)-(ID), (O)~(IIL), (D)-(T)

Question Type : MCQ
Question ID : 6564451645
Option 1 ID : 6564455739
Option 2 ID : 6564455736
Option 3 ID : 6564455738
tion 4 ID : 6564455737
w&ﬁtatus : Answered

o&ﬁ Option : 3

4% What does ‘ISI' stands for ?
©Pfon®1. Indian Standards Institute
2. Indian Standards of Isometri
3. International Stan 'fi’{‘nf"[ ruments
4. International Stand etrics

Question Type : MCQ
Question ID : 6564451641
Option 1 ID : 6564455723
Option 2 ID : 6564455721
Option 3 ID : 6564455720
Option 4 ID : 6564455722

Status : Answered

Chosen Option : 2
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Q30 ‘Fonestration’ in architecture refers to :
Options , * The layout of columns
2

. Materials used for roofing

3. Constructon of walls

4. Windows and openings
Question Type : MCQ
Question ID : 6564451639
Option 1 ID : 6564455712
Option 2 ID : 6564455713
Option 3 ID : 6564455715
Option 4 ID : 6564455714
Status : Not Answered
Chosen Option : --
Q31 Match List - I with List - IL
List - I List - I
(A) Abacus () Vertical member of railing
(B) Bollard (I Top part of column
(C) Baluster (III) Tapered upright structurg:
(D) Pinnacle (IV) Short free standing col éf}‘
Choose the correct answer from the Dpt'u:uns§i j v {;??‘
Opti D
PR (A)-(IV), (B)<(1D), (O)~(I1L), (D)- ©
> (A, (B)-(1I, (C)fIV), (D)-
{5
3 (A1), (B)(I), (C)-¢
4
4 (A)-(1D), (B)-(IV), (O)-(D),
Question Type : MCQ
Question ID : 6564451646
Option 1 ID : 6564455742
Option 2 ID : 6564455743
Option 3 ID : 6564455740
Option 4 ID : 6564455741
Status : Answered
Chosen Option : 2
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Q.32 Identi_fy the temple style of India represented in the given figure :

Options .
PHO"%1. Orissan style

2. Naga:a style
3. Vesara style
4. Dravidian style

Question Type : MCQ
Question ID : 6564451652
Option 1 ID : 6564455766
Option 2 ID : 6564455764
Option 3 ID : 6564455767
Option 4 ID : 6564455765

Status : Answered

Chosen Option : 1
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@3 “PRASAD’ scheme stands for :

Options

2

3

4

1. Pilgimage Regeneration and Social Association Drive
Perception and Reform Analysis in social and Demography
Perception and Rejuvenation And Spiritual Association Drive

Pilgrimage Rejuvenation and Spiritual Augmented Drive

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451643
6564455730
6564455731
6564455728
6564455729
Answered

4

Q.34  Which of the following finishing materials is known for its textured surface and is c¢;
in facades ?

Options1' Glass
2. Steel
3. Stucco
4. Timber

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451635
6564455696
6564455698
6564455697
6564455699
Answered

4
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Q.35 Identify the mirror image of the given word along X-X' axis :

X

DAYLIGHTING

options 1. DNLLHOITYVA
2 DUITHOLIYAQ
s. GUMLLHGITYAd
4 GULLHGITYAD

Question Type : MCQ
Question ID : 6564451620
Option 1 ID : 6564455637
Option 2 ID : 6564455636
Option 3 ID : 6564455639
Option 4 ID : 6564455638

Status : Answered

Option : 2
QOP
<

Q.36 Identify the mirror image of the given word

X

ENTABLATURE
5 \x‘?‘

openss. 34 UTA_IEATI/Ig‘
> ENTABLATURE
» IAUTALBATUI
+ EAUTALBATHW3

Question Type : MCQ
Question ID : 6564451623
Option 1 ID : 6564455649
Option 2 ID : 6564455648
Option 3 ID : 6564455651
Option 4 ID : 6564455650

Status : Answered

Chosen Option : 1
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Q.37 The question figure shows the 3D view of an object. Identify the correct number of visible surfaces.

Options 4 15
2. 14
3 18
4. 13
Question Type : MCQ
Question ID : 6564451610
Option 1 ID : 6564455598
Option 2 ID : 6564455597
Option 3 ID : 6564455599
Option 4 ID : 6564455596
Status : Answered
Chosen Option : 2
k
Q.38 Guggenheim Museum located in Manhattam, New York city was d g
Options ' y, <</
PHonS 1 Tom Wright ¥
2. John Russel Pope
3. Frank Llyod Wright
4. Gustave Eiffel
Question Type : MCQ
Question ID : 6564451637
Option 1 ID : 6564455707
Option 2 ID : 6564455706
Option 3 ID : 6564455705
Option 4 ID : 6564455704
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024371/2083024371S1D3134/17384027688126164/MR...

18/44



2/15/25, 2:49 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024371/2083024371S1D3134/173840276881...

Options 1

Human scale
2. Micro scale
3. Monumental scale

4. Nano scale

Q.39 Spructure which is designed to look impressive and wonderful from a far distance, has a :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451605
6564455577
6564455576
6564455578
6564455579
Answered

3

Options

correct view.

’

Q.40 The question figure shows the 3D view of an object. Looking in the direction of arrow identify the

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451611
6564455603
6564455600
6564455601
6564455602
Answered

4
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Q41 Central Vista Redevelopment Project was designed by which architect ?

OPtons1. Bimal Patel
2. Charles Correa
3. B.V. Doshi
4. U.C. Jain

Question Type : MCQ
Question ID : 6564451636
Option 1 ID : 6564455701
Option 2 ID : 6564455702
Option 3 ID : 6564455700
Option 4 ID : 6564455703

Status : Answered

Chosen Option : 3

Q.42 The question figure shows the 3D view of an object. Identify the correct Number of visible surfaces.

Options 1 11
2.9
310
4. 12

Question Type : MCQ
Question ID : 6564451609
Option 1 ID : 6564455594
Option 2 ID : 6564455592
Option 3 ID : 6564455593
Option 4 ID : 6564455595

Status : Answered

Chosen Option : 3
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Q.43 The question fig. shows the 3D view of an object. ldentify the correct number of visible surfaces.
13

Options 1.
2. 14
3 11
4. 12
Question Type : MCQ
Question ID : 6564451606
Option 1 ID : 6564455583
Option 2 ID : 6564455581
Option 3 ID : 6564455580
vy Option 4 ID : 6564455582
Status : Answered
1
Q.44 Which colour scheme is typically considered to be calming and is of
bathrooms ?
Options .
prions,. Primary colour (red, blue, yello
2. Triadic colours (green, orang
/v \g‘
3. Warm colours (redgbOfange)
s/
( -
4. Cool colours (blue, gre
Question Type : MCQ
Question ID : 6564451626
Option 1 ID : 6564455663
Option 2 ID : 6564455662
Option 3 ID : 6564455660
Option 4 ID : 6564455661
Status : Answered
Chosen Option : 4
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Q.45 F ' i
How many squares are there in the given flgm‘e ?
Options 4 5
2. f
3. 8
4.7
Question Type : MCQ
Question ID : 6564451617
Option 1 ID : 6564455624
1 6564455626
1 6564455625
: 6564455627
: Answered
12
Q.46 ®
How many edges does a cube hav,
Options ¢ 10
7
2. 6 f?‘\ .
312 P
4. 5
Question Type : MCQ
Question ID : 6564451616
Option 1 ID : 6564455621
Option 2 ID : 6564455622
Option 3 ID : 6564455623
Option 4 ID : 6564455620
Status : Answered
Chosen Option : 3
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Q.47

Options

Identify the correct mirror image of the given figure along X-X' axis :

X

N

O

\%

R R

<

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451654
6564455773
6564455774
6564455772
6564455775
Answered

1
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Q.48

Identify the famous building in the given picture :

= =i [ —

optiens1. Jama Masjid
2. Taj Mahal
3. Hagia Sophia ¥
4 Qutub Minar &

Question Type : MCQ
Question ID : 6564451653
Option 1 ID : 6564455769
Option 2 ID : 6564455770
Option 3 ID : 6564455771
Option 4 ID : 6564455768

Status : Answered

Chosen Option : 3

Q49 Which organisation maintains the regi(ration of Architects in India ?
Options 1. Indian Institute of Architects

2. Council of Architecture

3. Council of Indian Architects

4. Institute of Architect of India

Question Type : MCQ
Question ID : 6564451638
Option 1 ID : 6564455708
Option 2 ID : 6564455709
Option 3 ID : 6564455710
Option 4 ID : 6564455711

Status : Answered

Chosen Option : 1
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Q.50

Options

Identify the correct mirror image of the given figure along X-X' axis :

|
NIRRT,

=

>

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451624
6564455653
6564455655
6564455654
6564455652
Answered

4
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Q.51

Match List - I with List - IL.

List - I List - II
(A) B.V. Doshi, India (I) Pritzker Award in 2004
(B) Philip Johnson, United States (I) Pritzker Award in 1995
(C) Tadao Ando, Japan (III) Pritzker Award in 2018
(D) Zaha Hadid, Iraq (IV) Pritzker Award in 1979

Choose the correct answer from the options given below :

Options1_ (A)-{IHJ, {B)-{[V’L {C]-{H), {D]-{I)

2. (A)-(11), (B)-(I), (C)-(Im), (D)-(IV)
3 (A)-(1D), (B)-(IIL), (C)-(I), (D)-(IV)
4 (A)-(IM), (B)~(1D), (C)-(IV), (D)-(0)

Question Type :

Question ID :
Option 11D :
Option 21D :
: 6564455734
: 6564455733
: Answered
1

mca

6564451644
6564455732
6564455735
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Q.52

Options

Identify the figure which is odd from rest :

7

<

<D

Question Type
Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

:McQ
: 6564451619
: 6564455635
: 6564455632
: 6564455634
: 6564455633
Status :
Chosen Option :

Answered
1
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Q.53 The question figure shows the 3D view of an object. Identify the correct view looking in the
direction of arrow.

Options

Question Type : MCQ
Question ID : 6564451608
Option 1 ID : 6564455589
Option 2 ID : 6564455591
Option 3 ID : 6564455590
Option 4 ID : 6564455588

Status : Answered

Chosen Option : 4
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Q.54  Which of these is a well known proportion that is aesthetically pleasing and used in architecture ?
Options

IO 1. Moore's law
2. Newton's constant

3. Symmetry ratio

4. Golden ratio

Question Type : MCQ
Question ID : 6564451630
Option 1 ID : 6564455678
Option 2 ID : 6564455677
Option 3 ID : 6564455679
Option 4 ID : 6564455676

Status : Answered

Chosen Option : 4

A5 The primary function of a ‘roof truss’ is

Choose the appropriate answer from the following :

Opti ; R
PHO"%1. To increase the interior space

2. To act as a wind breaker

3. To provide thermal comfort

4. To support the weight of the r

Question Type : MCQ
Question ID : 6564451631
Option 1 ID : 6564455680
Option 2 ID : 6564455681
Option 3 ID : 6564455682
Option 4 ID : 6564455683

Status : Answered

Chosen Option : 2

Z,

&/

(3"\ »
7

=

4
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Q.56 Given below are two statements :
Statement (I) : Precipitation is the collective term that indicates the prevailing humidity conditions.

Statement (II) : Precipitation is measured by rain gauges and expressed in millimetres per time
unit.

In the light of the above statements, choose the most appropriate answer from the options given
below :

Options 1 Gtatement I is correct but Statement II is incorrect
2. Both Statement I and Statement Il are incorrect
3. Statement I is incorrect but Statement Il is correct

4. Both Statement I and Statement Il are correct

Question Type : MCQ
Question ID : 6564451651
Option 1 ID : 6564455762
Option 2 ID : 6564455761
Option 3 ID : 6564455763
Option 4 ID : 6564455760

Status : Not Answered

Chosen Option : --

@57 The famous ‘Parthenon’ is located in which ci 3
Options 1. Athens 5\3\0
2. Rome
3. Cairo
4. Paris

Question Type : MCQ
Question ID : 6564451642
Option 1 ID : 6564455725
Option 2 ID : 6564455727
Option 3 ID : 6564455724
Option 4 ID : 6564455726

Status : Answered

Chosen Option : 1
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4% Hawa Mahal located at Jaipur was built by :
OPfions s Maharaja Sawai Pratap Singh
2. Maharaja Jai Singh - II
3. Ushtad Ahmad Lahouri
4 Ustad Khalil

Question Type : MCQ
Question ID : 6564451632
Option 1 ID : 6564455686
Option 2 ID : 6564455684
Option 3 ID : 6564455685
Option 4 ID : 6564455687

Status : Not Answered

Chosen Option : --
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/

Options

Q.59  The question figure shows the 3D view of an object. Identify the correct view of the object looking
in the direction of arrow.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451614
6564455614
6564455613
6564455615
6564455612
Answered

4
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Q.60 The question figure shows the 3D view of an object. Identify the correct view looking in the
direction of arrow.

|

Options

Option 3 ID
Option 4 ID
Status

Question Type :
Question ID :
Option 11D :
Option 21D :

MmcaQ

6564451607
6564455585
6564455584

: 6564455587
: 6564455586
: Answered

Chosen Option :

3
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Q.61

Match List - I with List - IL.

List - I List - II
(A) Matt M  Silklike gloss
(B) Satin (I)  Highest level of gloss
(C) Semi-gloss (III) More gloss than a satin finish
(D) Glossy (IV) Lowest level of gloss

Choose the correct answer from the options given below :

OPions 1 (A)~(ID), (B)-(I), (C)~(ILI), (D)-(IV)

2 (A)-(IV), (B)-(ILI), (C)-(D), (D)-(IT)
3 (A)(IV), (B)-(D), (O)-(I1D), (D)-(IT)
4 (A1), (B)-(D), (OA1V), (D)-(I)

Question Type :
Question ID :
Option 11D :

: 6564455745

: 6564455747

: 6564455744

: Answered

03

McQ
6564451647
6564455746
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Options

@62 Which of the given shapes would complete the sequence ?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451618
6564455628
6564455629
6564455631
6564455630
Answered

4
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Q.63 The question figure shows the 3D view of an object. Identify the correct top view.

Options

Option 3 ID
Option 4 ID

Question Type :
Question ID :
Option 11D :
Option 21D :

MmcaQ

6564451612
6564455606
6564455604

: 6564455607
: 6564455605

Status :
Chosen Option :

Answered
2
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Q.64 Given below are two statements :

Statement (I) : A colour triangle is basically an arrangement of colors within a triangle, based on
the additive combination of three primary colours at its corners. Where primary

colours are yellow, red and blue.

Statement (II) : Secondary colours on the other hand are created when equal amounts of any
two primary colours are mixed together.

In the light of the above statements, choose the most appropriate answer from the options given
below :

Options 1. Statement I is correct but Statement II is incorrect

2. Statement I i1s incorrect but Statement Il is correct
3. Both Statement I and Statement Il are correct

4. Both Statement I and Statement Il are incorrect

Question Type : MCQ
Question ID : 6564451649
Option 1 ID : 6564455754
Option 2 ID : 6564455755
Option 3 ID : 6564455752
Option 4 ID : 6564455753

Status : Answered

hosen Option : 3

options 1. Archohm
2. Arcop

3. C.P. Kukreja

Z

4. Hafeez Contractor f&«v -

v Question Type : MCQ

Question ID : 6564451627
Option 1 ID : 6564455664
Option 2 ID : 6564455665
Option 3 ID : 6564455666
Option 4 ID : 6564455667
Status : Answered
Chosen Option : 4
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Opti ;
ptions 1 Renaissance

2. Gothic
3. Mughal

4. Baroque

Q.66 In which architectural style are you most likely to find “chhatris” as decorative elements ?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

: Answered

Chosen Option :

Status

McaQ

6564451629
6564455675
6564455672
6564455674
6564455673

3
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Q.67 The question figure shows the 3D view of an object. Identify the correct view looking in the
direction of arrow.

Options

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451613
6564455608
6564455609
6564455611
6564455610
Answered

4
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Q68  The textural appearance of “exposed aggregate” concrete is created by :
opfonss - Adding artificial pigments
2. Polishing the surface
3. Using stones in the mix

4. Using high grade cement

Question Type : MCQ
Question ID : 6564451633
Option 1 ID : 6564455689
Option 2 ID : 6564455688
Option 3 ID : 6564455691
Option 4 ID : 6564455690

Status : Not Answered

Chosen Option : --

Q.69 Given below are two statements :

Statement (I) : Human scale in architecture refers to the design dimensions that are comfortable
for human interaction.

Statement (II) : Monumental scale is most suitable for intimate and cozy spaces.

In the light of the above statements, choose the most appropriate answer fro
below :

Options 1 Gtatement I is correct but Statement
2. Both Statement I and Statement |
3. Both Statement I and Stateme

gtgi] 1s correct

4. Statement I is incorr l;vbut St
(3"\ »

- Question Type : MCQ
Question ID : 6564451648
Option 1 ID : 6564455750
Option 2 ID : 6564455749
Option 3 ID : 6564455748
Option 4 ID : 6564455751

Status : Answered

Chosen Option : 1

4
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Q70 The term ‘International style’ is used to describe architecture that :

Options | Ehcuses on functionality and simple geometric forms

2. Focuses on decoration and ornamentation
3. Is derived from ancient Greek architecture
4. Uses traditional building materials

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6564451634
6564455694
6564455693
6564455692
6564455695
Answered

1

@7 Gable : Roof : : Pier : .

Options 1. Floor

2. Railing 0\\0%
3. Column
4. Door

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451628
6564455671
6564455670
6564455669
6564455668
Not Answered
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Q72 ywhat is the total number of triangles in the given diagram ?

Options 4 27
2. 23

3. 22
4. 24

:MCQ
Quéstion ID : 6564451621

.@}\)’tion 11D : 6564455640
Qﬁ’Option 21D : 6564455642
Q{é‘/ Option 3 ID : 6564455643
C?* Option 4 ID : 6564455641
S Status : Answered
Chosen Option : 1

N

)

below :

Q.73  Given below are two statements :
Statement (I) :
Statement (II) : The lattitude of a plact isen anglifgi t

In the light of the above statements, choose

0\\

Due to sun, we hav, sons, rains, winds, plants and human life.
place with reference to the plane passing
through the equator on’e

ropriate answer from the options given

Options1. Both Statement I and Statement II are incorrect

2. Statement I is correct but Statement Il is incorrect
3. Statement I 1s incorrect but Statement Il is correct

4. Both Statement I and Statement Il are correct

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
6564451650
6564455757
6564455758
6564455759
6564455756
Not Answered
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Q.74 Choose the appropriate option which most closely resembles the water image of the given word

‘FROG' :
Options.]' EE[DG
2. D04
3. LKOC
4. GORF
Question Type : MCQ
Question ID : 6564451622
Option 1 ID : 6564455645
Option 2 ID : 6564455647
Option 3 ID : 6564455646
Option 4 ID : 6564455644
Status : Answered
Chosen Option : 3
Q.75 Which among the following is an excellent hardwood (timber) for furniture ?
Options 4 Accacia
2. Shisham
A
3. Royal Palm Y
4. Rose
Question Type : MCQ
Question ID : 6564451625
Option 1 ID : 6564455659
Option 2 ID : 6564455658
Option 3 ID : 6564455656
Option 4 ID : 6564455657
Status : Answered
Chosen Option : 4

Section : Drawing
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Q. Use moenochromatic colour rendering technique, light and shadow to represent its depth and
76 intensity. Draw the sketch of the given image using the above instructions.

Question Type : SUBJECTIVE
Question ID : 6564451655
Status : Answered

. Use five erent es of crackers and make a beau S ture for Diwali mela. You can
Use five diff types of k d make a beautiful 3D sculp for Diwali mela. Y

scale each cracker to any size of your choice. Usage of minimum 4 colours is compulsory.
77 k ¥ fy ge of P Ty

OR

Draw a beautiful sketch of a basket ball court where players are playing a match and audience are
enjoying. Use suitable colours of your choice.

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024371/2083024371S1D3134/17384027688126164/MR...

3’(@ Type : SUBJECTIVE

 .Quiéstion ID : 6564451656
A

| Status : Answered
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NATIONAL TESTING AGENCY
JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning

Exam Date : 30.01.2025 Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2B (B. Planning)
QUESTION ID CORRECT OPTION ID  QUESTION ID CORRECT OPTION ID

( Mathematics ) ( Aptitude Test ) ( Planning )
6564451480 6564455109 6564451505 6564455193 6564451555 6564455394
6564451481 6564455111 6564451506 6564455198 6564451556 6564455396
6564451482 6564455116 6564451507 6564455202 6564451557 6564455401
6564451483 6564455118 6564451508 6564455203 6564451558 6564455404
6564451484 6564455125 6564451509 6564455208 6564451559 6564455409
6564451485 6564455128 6564451510 6564455212 6564451560 6564455414
6564451486 6564455132 6564451511 6564455217 6564451561 6564455415
6564451487 6564455136 6564451512 6564455219 6564451562 6564455419
6564451488 6564455139 6564451513 6564455225 6564451563 6564455424
6564451489 6564455144 6564451514 6564455227 6564451564 6564455429
6564451490 6564455147 6564451515 6564455234 6564451565 6564455433
6564451491 6564455152 6564451516 6564455238 6564451566 6564455437
6564451492 6564455155 6564451517 6564455241 6564451567 6564455442
6564451493 6564455161 6564451518 6564455245 6564451568 6564455443
6564451494 6564455165 6564451519 6564455247, 6564455250 6564451569 6564455449
6564451495 6564455168 6564451520 6564455251 6564451570 6564455452
6564451496 6564455171 6564451521 6564455255 6564451571 6564455456
6564451497 6564455176 6564451522 6564455261 6564451572 6564455461
6564451498 6564455179 6564451523 6564455264 6564451573 6564455466
6564451499 6564455185 6564451524 6564455267 6564451574 6564455467
6564451500 6 6564451525 6564455273 6564451575 6564455471
6564451501 29 6564451526 6564455276 6564451576 6564455476
6564451502 2 6564451527 6564455280 6564451577 6564455481
6564451503 69 6564451528 46564455284 6564451578 6564455483
6564451504 361 6564451529 6564455289 6564451579 6564455487

6564451530, 6564455291
6564451531 6564455298
6564451532 6564455301
6564451533 6564455306
6564451534 6564455309
6564451535 6564455312
6564451536 6564455316
6564451537 6564455320
6564451538 6564455324
6564451539 6564455329
6564451540 6564455331
6564451541 6564455338
6564451542 6564455340
6564451543 6564455344
6564451544 6564455347
6564451545 6564455353
6564451546 6564455356
6564451547 6564455362
6564451548 6564455365
6564451549 6564455367
6564451550 6564455371
6564451551 6564455377
6564451552 6564455380
6564451553 6564455384

6564451554

6564455388



NATIONAL TESTING AGENCY
JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning

Exam Date : 30.01.2025 Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2A (B. Arch.)
QUESTION ID CORRECT OPTION ID

( Mathematics ) ( Aptitude Test )
6564451580 6564455494 6564451605 6564455578
6564451581 6564455496 6564451606 6564455583
6564451582 6564455501 6564451607 6564455587
6564451583 6564455503 6564451608 6564455588
6564451584 6564455510 6564451609 6564455593
6564451585 6564455513 6564451610 6564455597
6564451586 6564455517 6564451611 6564455602
6564451587 6564455521 6564451612 6564455604
6564451588 6564455524 6564451613 6564455610
6564451589 6564455529 6564451614 6564455612
6564451590 6564455532 6564451615 6564455619
6564451591 6564455537 6564451616 6564455623
6564451592 6564455540 6564451617 6564455626
6564451593 6564455546 6564451618 6564455630
6564451594 6564455550 6564451619 6564455632, 6564455635
6564451595 6564455553 6564451620 6564455636
6564451596 6564455556 6564451621 6564455640
6564451597 6564455561 6564451622 6564455646
6564451598 6564455564 6564451623 6564455649
6564451599 6564455570 6564451624 6564455652
6564451600 6 6564451625 6564455658
6564451601 29 6564451626 6564455661
6564451602 2 6564451627 6504455665
6564451603 69 6564451628 46564455669
6564451604 361 6564451629 6564455674

6564451630, 6564455676
6564451631 6564455683
6564451632 6564455686
6564451633 6564455691
6564451634 6564455694
6564451635 6564455697
6564451636 6564455701
6564451637 6564455705
6564451638 6564455709
6564451639 6564455714
6564451640 6564455716
6564451641 6564455723
6564451642 6564455725
6564451643 6564455729
6564451644 6564455732
6564451645 6564455738
6564451646 6564455741
6564451647 6564455747
6564451648 6564455750
6564451649 6564455752
6564451650 6564455756
6564451651 6564455762
6564451652 6564455765
6564451653 6564455769
6564451654 6564455773



NATIONAL TESTING AGENCY
JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning

Exam Date : 30.01.2025 Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2A & 2B (B. Arch. & B. Planning)
QUESTION ID CORRECT OPTION ID  QUESTION ID CORRECT OPTION ID

( Mathematics ) ( Aptitude Test ) ( Planning )
6564451378 6564454724 6564451403 6564454808 6564451453 6564455009
6564451379 6564454726 6564451404 6564454813 6564451454 6564455011
6564451380 6564454731 6564451405 6564454817 6564451455 6564455016
6564451381 6564454733 6564451406 6564454818 6564451456 6564455019
6564451382 6564454740 6564451407 6564454823 6564451457 6564455024
6564451383 6564454743 6564451408 6564454827 6564451458 6564455029
6564451384 6564454747 6564451409 6564454832 6564451459 6564455030
6564451385 6564454751 6564451410 6564454834 6564451460 6564455034
6564451386 6564454754 6564451411 6564454840 6564451461 6564455039
6564451387 6564454759 6564451412 6564454842 6564451462 6564455044
6564451388 6564454762 6564451413 6564454849 6564451463 6564455048
6564451389 6564454767 6564451414 6564454853 6564451464 6564455052
6564451390 6564454770 6564451415 6564454856 6564451465 6564455057
6564451391 6564454776 6564451416 6564454860 6564451466 6564455058
6564451392 6564454780 6564451417 6564454862, 6564454865 6564451467 6564455064
6564451393 6564454783 6564451418 6564454866 6564451468 6564455067
6564451394 6564454786 6564451419 6564454870 6564451469 6564455071
6564451395 6564454791 6564451420 6564454876 6564451470 6564455076
6564451396 6564454794 6564451421 6564454879 6564451471 6564455081
6564451397 6564454800 6564451422 6564454882 6564451472 6564455082
6564451398 6 6564451423 6564454888 6564451473 6564455086
6564451399 29 6564451424 6564454891 6564451474 6564455091
6564451400 2 6564451425 6564454895 6564451475 6564455096
6564451401 69 6564451426 46564454899 6564451476 6564455098
6564451402 361 6564451427 6564454904 6564451477 6564455102

6564451428, 6564454906
6564451429% 6564454913
6564451430 6564454916
6564451431 6564454921
6564451432 6564454924
6564451433 6564454927
6564451434 6564454931
6564451435 6564454935
6564451436 6564454939
6564451437 6564454944
6564451438 6564454946
6564451439 6564454953
6564451440 6564454955
6564451441 6564454959
6564451442 6564454962
6564451443 6564454968
6564451444 6564454971
6564451445 6564454977
6564451446 6564454980
6564451447 6564454982
6564451448 6564454986
6564451449 6564454992
6564451450 6564454995
6564451451 6564454999

6564451452

6564455003



NATIONAL TESTING AGENCY 4
JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning (For Centers Outside India)

Exam Date : 30.01.2025 Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2B (B. Planning)
QUESTION ID CORRECT OPTION ID  QUESTION ID CORRECT OPTION ID

( Mathematics ) ( Aptitude Test ) ( Planning )
6564452136 6564457469 6564452161 6564457553 6564452211 6564457754
6564452137 6564457471 6564452162 6564457558 6564452212 6564457756
6564452138 6564457476 6564452163 6564457562 6564452213 6564457761
6564452139 6564457478 6564452164 6564457563 6564452214 6564457764
6564452140 6564457485 6564452165 6564457568 6564452215 6564457769
6564452141 6564457488 6564452166 6564457572 6564452216 6564457774
6564452142 6564457492 6564452167 6564457577 6564452217 6564457775
6564452143 6564457496 6564452168 6564457579 6564452218 6564457779
6564452144 6564457499 6564452169 6564457585 6564452219 6564457784
6564452145 6564457504 6564452170 6564457587 6564452220 6564457789
6564452146 6564457507 6564452171 6564457594 6564452221 6564457793
6564452147 6564457512 6564452172 6564457598 6564452222 6564457797
6564452148 6564457515 6564452173 6564457601 6564452223 6564457802
6564452149 6564457521 6564452174 6564457605 6564452224 6564457803
6564452150 6564457525 6564452175 6564457607, 6564457610 6564452225 6564457809
6564452151 6564457528 6564452176 6564457611 6564452226 6564457812
6564452152 6564457531 6564452177 6564457615 6564452227 6564457816
6564452153 6564457536 6564452178 6564457621 6564452228 6564457821
6564452154 6564457539 6564452179 6564457624 6564452229 6564457826
6564452155 6564457545 6564452180 6564457627 6564452230 6564457827
6564452156 6 6564452181 6564457633 6564452231 6564457831
6564452157 29 6564452182 6564457636 6564452232 6564457836
6564452158 2 6564452183 65064457640 6564452233 6564457841
6564452159 69 6564452184 46564457644 6564452234 6564457843
6564452160 361 6564452185 6564457649 6564452235 6564457847

6564452186, 6564457651
6564452187% 6564457658
6564452488 6564457661
6564452189 6564457666
6564452190 6564457669
6564452191 6564457672
6564452192 6564457676
6564452193 6564457680
6564452194 6564457684
6564452195 6564457689
6564452196 6564457691
6564452197 6564457698
6564452198 6564457700
6564452199 6564457704
6564452200 6564457707
6564452201 6564457713
6564452202 6564457716
6564452203 6564457722
6564452204 6564457725
6564452205 6564457727
6564452206 6564457731
6564452207 6564457737
6564452208 6564457740
6564452209 6564457744

6564452210

6564457748



NATIONAL TESTING AGENCY

5

JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning (For Centers Outside India)

Exam Date : 30.01.2025

Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2A (B. Arch.)

QUESTION ID CORRECT OPTION ID

( Mathematics )

6564452059
6564452060
6564452061
6564452062
6564452063
6564452064
6564452065
6564452066
6564452067
6564452068
6564452069
6564452070
6564452071
6564452072
6564452073
6564452074
6564452075
6564452076
6564452077
6564452078
6564452079
6564452080
6564452081
6564452082
6564452083

6564457184
6564457186
6564457191
6564457193
6564457200
6564457203
6564457207
6564457211
6564457214
6564457219
6564457222
6564457227
6564457230
6564457236
6564457240
6564457243
6564457246
6564457251
6564457254
6564457260
6

29

2

69

361

( Aptitude Test )

6564452084
6564452085
6564452086
6564452087
6564452088
6564452089
6564452090
6564452091
6564452092
6564452093
6564452094
6564452095
6564452096
6564452097
6564452098
6564452099
6564452100
6564452101
6564452102
6564452103
6564452104
6564452105
6564452106
6564452107
6564452108
6564452108
6504452110
6564452411
6564452112
6564452113
6564452114
6564452115
6564452116
6564452117
6564452118
6564452119
6564452120
6564452121
6564452122
6564452123
6564452124
6564452125
6564452126
6564452127
6564452128
6564452129
6564452130
6564452131
6564452132
6564452133

6564457268
6564457273
6564457277
6564457278
6564457283
6564457287
6564457292
6564457294
6564457300
6564457302
6564457309
6564457313
6564457316
6564457320
6564457322, 6564457325
6564457326
6564457330
6564457336
6564457339
6564457342
6564457348
6564457351
6506445/355
6564457359
6564457364
6564457366
6564457373
6564457376
6564457381
6564457384
6564457387
6564457391
6564457395
6564457399
6564457404
6564457406
6564457413
6564457415
6564457419
6564457422
6564457428
6564457431
6564457437
6564457440
6564457442
6564457446
6564457452
6564457455
6564457459
6564457463



NATIONAL TESTING AGENCY 6
JEE (Main) - 2025 : SESSION -1 FINAL ANSWER KEY OF B.Arch / B.Planning (For Centers Outside India)

Exam Date : 30.01.2025 Exam Shift : Second
QUESTION ID CORRECT OPTION ID

Course : Paper-2A & 2B (B. Arch. & B. Planning)
QUESTION ID CORRECT OPTION ID  QUESTION ID CORRECT OPTION ID

( Mathematics ) ( Aptitude Test ) ( Planning )
6564451957 6564456799 6564451982 6564456883 6564452032 6564457084
6564451958 6564456801 6564451983 6564456888 6564452033 6564457086
6564451959 6564456806 6564451984 6564456892 6564452034 6564457091
6564451960 6564456808 6564451985 6564456893 6564452035 6564457094
6564451961 6564456815 6564451986 6564456898 6564452036 6564457099
6564451962 6564456818 6564451987 6564456902 6564452037 6564457104
6564451963 6564456822 6564451988 6564456907 6564452038 6564457105
6564451964 6564456826 6564451989 6564456909 6564452039 6564457109
6564451965 6564456829 6564451990 6564456915 6564452040 6564457114
6564451966 6564456834 6564451991 6564456917 6564452041 6564457119
6564451967 6564456837 6564451992 6564456924 6564452042 6564457123
6564451968 6564456842 6564451993 6564456928 6564452043 6564457127
6564451969 6564456845 6564451994 6564456931 6564452044 6564457132
6564451970 6564456851 6564451995 6564456935 6564452045 6564457133
6564451971 6564456855 6564451996 6564456937, 6564456940 6564452046 6564457139
6564451972 6564456858 6564451997 6564456941 6564452047 6564457142
6564451973 6564456861 6564451998 6564456945 6564452048 6564457146
6564451974 6564456866 6564451999 6564456951 6564452049 6564457151
6564451975 6564456869 6564452000 6564456954 6564452050 6564457156
6564451976 6564456875 6564452001 6564456957 6564452051 6564457157
6564451977 6 6564452002 6564456963 6564452052 6564457161
6564451978 29 6564452003 6564456966 6564452053 6564457166
6564451979 2 6564452004 6564456970 6564452054 6564457171
6564451980 69 6564452005 46564456974 6564452055 6564457173
6564451981 361 6564452006 6564456979 6564452056 6564457177

656445200%. 6564456981
6564452008 6564456988
6564452009 6564456991
6564452010 6564456996
6564452011 6564456999
6564452012 6564457002
6564452013 6564457006
6564452014 6564457010
6564452015 6564457014
6564452016 6564457019
6564452017 6564457021
6564452018 6564457028
6564452019 6564457030
6564452020 6564457034
6564452021 6564457037
6564452022 6564457043
6564452023 6564457046
6564452024 6564457052
6564452025 6564457055
6564452026 6564457057
6564452027 6564457061
6564452028 6564457067
6564452029 6564457070
6564452030 6564457074
6564452031 6564457078



